, pp — 88,8 — bW™ %] pp— 888 - qqVAi Pp — 88,8~ W' X pp = 88§ — qqVA,

Region | HF"*® Hr Niet [GeV]  Npjer [GeV] mg = 1500 GeV mg = 1400 GeV mg = 1100 GeV mg = 1000 GeV

My = 100 GeV Mye = 100 GeV My = 700 GeV My = 800 GeV
1 >500  >500 >2 0 4.66 £0.16 1253 +2.2 6.21+£0.32 1150+24
2 >750 >1500 >3 0 1.58 £+ 0.09 282£1.0 0.42 £0.07 9.48 £0.68
3 >500 >500 >5 0 453£0.15 121.1+21 5.67 £0.29 104.3+23
4 >750 >1500 >5 0 1.57 £0.09 278£1.0 0.42 £0.07 9.42 £0.67
5 >750 >1500 >9 0 0.58 £ 0.05 10.19 £ 0.58 0.16 £0.03 3.52+£0.38
6 >500 >500 >2 >2 61.3+1.2 17.65 +0.42 107.7 £2.7 10.26 £ 0.36
7 >750  >750 >3 >1 35.45+0.86 23.71+£0.61 204+1.1 9.45+0.42
8 >500 >500 >5 >3 31.60 +0.89 3.02+0.16 57.6 +2.1 1.51£0.12
9 >750 >1500 >5 >2 21.18 +0.69 4.54 £0.22 8.79 +£0.76 1.124+0.12
10 >750  >750 >9 >3 6.52 +0.42 0.53 £ 0.07 434+059 0.16 £0.05
11 >300 >300 >7 >1 965+ 14 957 +12 488.2+55 1064+ 1.4
12 >750  >750 >5 >1 35.11+0.85 23.31+0.61 202+1.1 9.15+041




